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Sample Paper- 2016
Subject: Mathematics
Class 10th 

PRE-BOARD EXAMINATION – 2016

TIME : 3 hrs                                                   M.M. – 90

                                                       SECTION – A                                           4 X 1 = 4
Q 1.If  ‘a’  and ‘b’ are prime numbers ,then what is their LCM ?

Q 2.  In how many points does the graph of the polynomial  y = x2 – 1  meet the x-axis ?

Q 3.  The areas of two similar triangles ABC and DEF are 121 cm2 and 64 cm2respectively.If BC = 15.4 

cm , find EF.

Q 4.  Following table gives age distribution of diabetic patients admitted during a year in a hospital. 

          Find the lower limit of the modal class.

	Age(in years)
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70

	Frequency
	4
	8
	11
	24
	20
	13
	5


                                                              SECTION – B                                           6 X 2 = 12

Q 5.  Find the quadratic polynomial whose zeroes are  [image: image2.png]


 .

Q 6.  Check whether the first polynomial  x + 1 is a factor of the second polynomial 3x3 + 2x2 + 4x + 6 

by dividing the second polynomial by the first polynomial.

Q 7.  The following table gives the litracy rate (in %) of 25 cities.Find the median class and  

Modal class.

	Litracy rate

 (in %)
	50-60
	60-70
	70-80
	80-90

	No. of cities
	9
	6
	8
	2


Q 8.Evaluate :[image: image4.png]35in307
2 cos70°




  -  [image: image6.png]sin307.tan 70
cot208




Q 10.  Take A = 600 and B = 300 . Write the values of cosA ,cos B and cos (A + B ).

Is  cos(A + B ) = cosA + cos B
                                                              SECTION – C                                           10 X 3 = 30

Q 11.  Prove that  [image: image8.png]53
Yy



  is an irrational number.

Q 12.  Find the decimal expansion of [image: image10.png]17
2 x 52




  . Find out after how many decimal place it terminates.

Q 13.Solve the following pair of linear equations by cross multiplication method :
mx – ny = m2 + n2   ,  x + y = 2m
Q 14.  If the mean of the following frequency distribution is 65.6,find the missing frequencies f1& f2.

	Class
	10-30
	30-50
	50-70
	70-90
	90-110
	110-130
	TOTAL

	Frequency
	5
	8
	f1
	20
	f2
	2
	50


Q 15.  Find the missing frequency ‘a’ , if mode of the data is 154 :
	Class interval
	120-130
	130-140
	140-150
	150-160
	160-170
	170-180

	Frequency
	2
	8
	12
	a
	8
	7


Q 16.  If x3 – 4x2 + 5x – k  is completely divisible by x – 4 , then find k.
Q 17.  Prove that :[image: image12.png]sinf + cosf | sinf-cosf  2sec”f
sinf—cos8 | sin6icosd  tan?f—1



  .

Q 18.  Prove that  :[image: image14.png]seck + tant
o —"y




  . 
[image: image51.png]Q 19.  In the given figure,    OA        OC ,   BA        AC ,OA = 3 cm ,OC = 4 cm and AB = 12 cm.

            Find perimeter of [image: image16.png]AABC



 .

Q 20.  The diagonals of a quadrilateral ABCD intersect eachother at point O such that [image: image18.png]et
50



 = [image: image20.png]


 .Show 

that ABCD is a trapezium.

                                                              SECTION – D                                           11 X 4 = 44
Q 21.If [image: image22.png]a and f



 are the zeroes of the quadratic polynomial p(x) = [image: image24.png]3x2 —5x —2



 ,then evaluate:
(i) [image: image26.png]e

-



              (ii)         [image: image28.png]a’p
+ap®




Q 22.  Show that one and only one out of  n , ( n + 1) and ( n + 2 ) is divisible by 3, where n is any 

positive integer.
Q 23.  Solve the following pair of linear equations in x and y :

( a + b )x + ( a – b )y = a2 + 2ab + b2    ;    ( a – b )( x – y ) = a2 + b2
            If point of intersection of their graphs lies on the line given by y = mx – a ,find the value of m.

Q 24.In the North-East of India ,a village was affected by flood.Mr. Sharma from Mumbai decided 
to help them with food items,clothes,medicineetc.So,he collected some amount from 

different persons,which is represented by  4x4 + 2x3  - 8x2 + ax + b . If 2x2 + x – 2 was number of 
persons who were helped by this service and left over amount was  5x – 11 ,which was 

donated in Prime Minister Relief Fund , then find the values of ‘a’ and ‘b’.What values are  

possessed by Mr. Sharma ?
Q 25.If D , E and F are respectively the mid-points of the sides BC , CA and AB of [image: image30.png]AABC,



 find the 

ratio of the areas of [image: image32.png]AABC and ADEF



 .
Q 26.  If [image: image34.png]AABC ~ APQR



 and AD and PS are medians of [image: image36.png]AABC and APQR



respectively , then prove 

that[image: image38.png]ar(84BC) _ AD”
ar(APQR) . PS5




  .
Q 27.  Prove that   [image: image40.png]Vsec?8 + cosec?



  = tan [image: image42.png]


 + cot[image: image44.png]


 .

Q 28.If [image: image46.png]sin(A+B




and [image: image48.png]


 , find the value of 
(i) tanA + cotB                        (ii)        secA – cosecB

Q 29.Evaluate :[image: image50.png]; c0sec?58° — 2 cot58° tan32° — 2 tan13° tan37° tan 53°tan77°



  .
Q 30.The median of the following distribution is 46 , find the missing frequencies  p  and  q :
	Class

Interval
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70
	70-80
	Total

	Frequency
	12
	30
	p
	65
	q
	25
	18
	230


Q 31.  Given below is a cumulative frequency distribution of monthly wages of a hospital :

	Monthly wages(in Rs)
	Below 5000
	Below 6000
	Below 7000
	Below 8000
	Below 9000
	Below 10000

	No. of staff members
	0
	15
	30
	35
	52
	60


Draw a “ less than type” Ogive for this data.
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